COMMON ENTRANCE TEST - 2017
DATE SUBJECT TIME

02-05-2017 BIOLOGY 10.30 am to 11.50 am

MAXIMUM MARKS TOTAL DURATION MAXIMUM TIME FOR ANSWERING

60 80 Minutes 70 Minutes
MENTION YOUR CET NUMBER QUESTION BOOKLET DETAILS
VERSION CODE / SERIAL NUMBER
XXXXXX

DOs :

]

Check whether the CET No. has been entered and shaded in the respective circles on the OMR Answer Sheet.

2. This question booklet is issued to you by the invigilator after the 2™ bell i.e., after 10.30 am.

The Version Code / Serial Number of this question booklet should be entered on the OMR Answer Sheet and the
respective circles should also be shaded completely.

4. Compulsorily affix the complete signature at the bottom portion of the OMR Answer Sheet in the space provided.

1

DONTs :
1. The timing and marks printed on the OMR Answer Sheet should not be damaged / mutilated / spoiled.
2. The 3"9 Bells rings at 10.40 am, till then;
® Do not remove the seal present on the right hand side of this question booklet.
e Do not look inside this question booklet.
e Do not start answering on the OMR Answer Sheet.
IMPORTANT INSTRUCTIONS TO CANDIDATES

—

This question booklet contains 60 questions and each question will have one statement and four distracters.
(Four different options / choices.)

2. After the 3 Bell is rung at 10.40 am, remove the seal on the right hand side of this question booklet and check
that this booklet does not have any unprinted or torn or missing pages or items etc., if so, get it replaced
immediately by complete test booklet by showing it to Room Invigilator. Read each item and start answering on
the OMR Answer Sheet.

During the subsequent 70 minutes :

lrd

e Read each question carefully.

e  Choose the correct answer from out of the four available distracters (options / choices) given under
each question / statement.

e  Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the
question number on the OMR answer sheet.

Correct Method of shading the circles on the OMR Answer Sheet is : @ . @ @

4.  Please note that even a minute unintended ink dot on the OMR Answer Sheet will also be recognized and
recorded by the scanner. Therefore, avoid multiple markings of any kind on the OMR Answer Sheet.

5. Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR Answer
Sheet for the same.

6.  After the last bell is rung at 11.50 am, stop writing on the OMR Answer Sheet and affix your left hand thumb
impression on the OMR Answer Sheet as per the instructions.

7. Hand over the OMR Answer Sheet to the room invigilator as 1t is.

8.  After separating the top sheet (KEA copy), the invigilator will return the bottom sheet replica (Candidate’s copy)
to you to carry home for self evaluation.

9.  Preserve the replica of the OMR Answer Sheet for a minimum period of ONE year.

10. In case of any discrepancy in the English and Kannada versions, the English version will be taken as final.
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Identify the ‘order’ from the following:
(A) Carnivora (B) Muscidae

(O) Insecta (D) Panthera

Question id: 1

Which of the following options show the

characters of mycoplasma?

(A) Smallest living cell without cell wall
survive with oxygen.

(B) Smallest living cell with cell wall survive
with oxygen.

(©) Smallest living cell without cell wall
survive without oxygen.

(D) Smallest living cell with cell wall survive
without oxygen.

Cuestion id : 2

Which class of Algae reproduces asexually by
non-motile spores and sexually by non-motile
gametes?

(A) Rhodophyceae
(O) Chlorophyceae

(B) Phacophyceae
(D) Cyanophyceae

Cuestion id: 3

Which of the following plants produce

zygomorphic flowers?
(A) Hibiscus (B) Canna
(O) Gulmohar (D) Mustard

Cuestion k. 4

The secondary wall material Suberin 1s

deposited on the walls of
(A) Pericycle of stem and endodermis of root

(B) Phellum of stem and endodermis of root
(O) Epidermus of stem and endodermis of root

(D) Phellogen and phelloderm

Cuestion id: 5

88 FINTPYNY, FTLIODTY, MOTER.
(A) TORF R0 /TR0TITIONED

(B) ma e

(C) VTAT, (D) 3,0530°

Cuestion kd ;1

B NI oYY, oI WERTRIT

MOEIUB LINTR) TRONT ?

(A) ST B WeDROT, ERETPE T3 w3 w3
AN ADN

(B) SWETT X 23eITIT, TREIWS BRODTOW 88
233 23eaITRCT

(C) BETT Tl WA, BRSPS T3 8 z,sq
zﬁedﬁfaea’

(D) SINEIT T&3 WeRRIW, TIPS TROOT ©8
W3, 2 eTERCT

Cuestion id: 2

= BINTRNGE, QOFonzoN WOT0LS
mmmdaﬁa DondedoDd) WBOTITLI r‘r*é:;:arsésso‘u
SpCaIw facﬂaﬁmeéa mma ZROT B[N cdr@ci,
9

(A) CRCTERF X (B) $03R¢ PR

(C) BRLTR TR (D) RODIR JR

Question bd: 3
SN ﬁm&gj oom  oE A% dm TLRMD &:ﬁm:i &
ATOTRLNTINTOZR ?
(A) TR (B) TR (3030¥)

(C) ™ SRTW (D) TR

Cuestion id: 4

TOUOT* QoW QIO WS F[APY) FHNIYNYAI
ORI WENY oee Q ’i’:w ERNTS 2

(A) TPOTT TOFFS® Y ¢3e0T WITTOF
(B) TOOBT FQI* 00 130T wdTR0oF

(C) TOOTT TRTTRF 0B LIe0T WITROF
(D) FERED® TOB FERERTFE

Question id: 5
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6.

10.

The type of epithelium found in the fallopian
tube which functions to move particles or
mucous in specific direction is:

(A) Squamous epithelium
(B) Cuboidal epithelium
(O) Ciliated epithelium

(D) Columnar epithelium

Cuestion Id : 6

Which one of the following 1s not included
under endomembrane system?
(A) Endoplasmic reticulum

(B) Mitochondria

(O) Lysosome (D) Vacuole

Cuestion id: 7

In the following diagrammatic representation
of a standard ECG the ‘T” represents.

R
P : T
— Qf \s P

(A) Depolarisation of Atria
(B) Depolarisation of Ventricles

(O) Repolarisation of Atria

(D) Repolarisation of Ventricles

Cuestion id: 8

Which of the following 1s not a characteristic
of facilitated transport?
(A) Uphill transport

(O) Requires special membrane proteins
(D) Transport saturates

(B) Highly selective

Identify the elements whose deficiency causes
both necrosis and chlorosts.

(A) Mg, K (B) Mo, Ca

(O) Fe, Mn (D) Cu, Co

Cuestion Id ;10

10.

NPrSeY  (FURLWODT W W) BYTOT oS
eIl ov) ﬁsa-rie;sigt Clam EiIE;»E@OjJES%{ %’Dﬁjrﬁ;
Cﬁ%ﬁ@ﬁ BT L0 ATHIOL TR ?

(A) TR, SCTT (B) TS x0T esTs

(C) BreaT (AO03eEEE’) BRoSews

(D) BOTRT° BBTeTT

Cuestion ld : 6

B3 FIPADT ORI ©o3T° WeRTIW®
00, €TF) WWAN WITRROY, ?
(A) ©OZT* gﬁmﬂ (B) &ﬂﬁﬁﬁc@m

(D) TRETRTIT

(0TH

(© SReRReT

Cuestion bd: 7

m@%dm Z)@RESBECG o0 88, mﬁmﬂoﬁécﬁ@ﬁ “T’
e2e30300 a’}ﬁso‘.gt mﬁmgcﬁodd

R
P 4 23
o WL ) O - TN~

(A) at}éﬂsarzﬁ Eéﬁm@%ﬂ?&‘?
(B) B 300 BRPeOT TS’
(C) B, 3EF T OFPewTRST®
(D) B,ZuF 0D OFpewgHes

Cuestion id: 8
ieTat areagdmw o33 ﬁasaa:isaﬁeéa XToN Tonmn
xom@mﬁ ?

(A) ﬁae%a} aplatsd) (B) SJ%EM '5':505%
(C) TRTOD VTR T, E3e° ILOAN
(D) ‘N"O%@ﬁ%ﬂ rapTa™IYS:.

Question id: 9
B3 FINT 0I0eT DOROTRY (FPeTFo0o3) NY TRTI0XD
FR,NTY, FER AT W) BRLTRCAT NYTRTY, YLD
RRTZT ?
(A) Mg, K

(© Fe, Mn

(B) Mo, Ca
(D) Cu, Co

Cuestion kd ;10
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1. The outcome of Calvin cycle include:

12.

13.

14.

15.

(A) 6 CO,, I8 ATP, 12 NADPH

(B) One glucose, 18 ATP, 12 NADPH
(O 6 co,, I8ADP, 12 NADP

(D) One glucose, 18 ADP, 12 NADP

Quesfion id: 11

The number of ATP molecules utilised for the
breakdown of one molecule of glucose during

glycolysis is:
(A) 4 (B) 2
(©) 6 (D) 8

Cuestion Id ;12

Match the enzymes of Column-I with the
functions of Column-II. Choose the correct
option:

Column-I Column-II

1. Enterokinase p. digests milk proteins

2. Rennin q. digests carbohydrates
3. Amylase I. activates trypsinogen
4. Lipase s. acts on nucleic acids

t. breakdown fats
(A) 1-1, 2-p, 3-q, 4t (B) 1-1, 2-p, 3-t, 4-q

O 1-s, 2-p, 3-t,4-q (D) 1-s, 2-q, 3-p, 4-t

CQuestion id: 13

The volume of air inspired or expired by a
healthy man per minute 1s:
(A) 1000 ml - 1100 ml (B) 2500 ml - 3000 ml

(O©) 6000 ml - 8000 ml (D) 400 ml - 500 ml

Cuestion Id : 14

The blood cell that
serotonin and heparin is:

(A) Neutrophil (B) T-lymphocyte
(O) Killer cell (D) Basophil

secretes histamine,

Question id: 15

1.

12.

13.

14.

15.

TR FOF* 38,3 QT TINTRY WHNRORT.
(A) 6 QOTROT T, T @, 18 ATP, 12 NADPH

(B) 20T ﬁ%ﬁaeﬁ, 18 ATP, 12 NADPH
(C) 6 QOO céﬂ Eﬁfwaﬁ, 18 ADP, 12 NADP
(D) WOTO MYEReR, 18 ADP, 12 NADP

Cuestion kd: 11

i, BReORT 3,000, woTwd MBRCT' LTI
503 03N 00O Wezordzm ATP ne :ﬂo&.}_

(A) 4 (B) 2
(©) 6 (D) 8

Cuestion id: 12

5o00-1 TYTOT %E‘arﬁ#a‘a Fowo-Il TYTOF wPne

E-.‘:Od):-—‘ﬁ@i!ad?o’ ﬁrﬂc&w, &N i;aaum pate)
m:acms*i'é‘od:a‘% dOﬁJﬁ RRE.
Fo00-1 F00-1I
1. P . TOS T L3I,
QOWTRTICR®  2BeEOFTRWIZTT

q . TRFTE, neso
2R oS )
3. wRPex® ot ﬁwd@fﬁwm USRRIBT

4. e'g“jﬁem'f s. Eﬁﬁai@_ﬁﬁ“ Eﬁﬁg_ﬁ%’ mmefﬁeﬂ'b:gjﬁ
t. ai‘aecp’ﬁﬂ mq BO0BORIBT

A)l-r,2-p,3-q,4-t (B)1l-r,2-p,3-t,4-q
©1-s,2-p,3-t,4-q @)1l-s,2-q,3-p,4-t

Question id: 13

WO ANTPTHONY, W, Eﬁi@n’“ﬁ WOB DRI

Sp) PR OB E’}?w R TRV nog, /
""l?iI'“E“a@
(A) 1000 <0.9¢. _ 1100 0. 9.

(B) 2500 Q0.9¢. _ 3000 &0.9¢.
(C) 6000 Q0.9¢. _ 8000 &0.9e.
(D) 400 0.9¢. _ 500 &0.9.

Cuestion bd: 14
LRI, FOHRRT Y B,0F NYRD B,0R08
O% B9,
(A) TBR,ER,*

(C) 3QT° JeF*

(B) T-@o@@%w
(D) WeRppe*

Question id: 15
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16.

17.

18.

19.

20.

21

The hormones involved in maintaining calcium
balance in the human body are:

(A) PTH and TCT (B) PTH and LTH
(O) TCT and FSH (D) MSH and ACTH

Cuesfion i : 16

Amoeba 1s immortal because:
(A) it 1s multicellular ~ (B) it is microscopic

(O) it reproduces by sexual method only

(D) parental body is distributed among the
offsprings during binary fission

CQuestion i : 17

Which of the following is not a pre-fertilisation
events in higher organisms?
(A) Gametogenesis (B) Gamete transfer

(C) Meiosis (D) Cleavage

Cuestion Id - 18
[f a tetraploid plant contains 48 chromosomes

1n 1ts nucellus, then number of chromosomes 1n
the egg cell and 1n a synergid respectively:

(A) 48 and 48 (B) 24 and 24
(O) 24 and 48 (D) 48 and 24
Pollen grains are generally spherical,

measuring about:
(A) 25-50 micrometers (B) 25-50 millimeters

(C) 25-50 nanometers (D) 25-50 centimeters

Cuestion i 20

Which of the following characters is not

required for autogamy?

(A) Flowers require synchrony in pollen release
and stigma maturation.

(B) Anthers and stigma should lie close to each
other.

(O) Flowers should be bisexual.
(D) Required pollination agents.

Cuestion id : 21

16.

17.

18.

19.

20.

21.

TN TeRTEY, Eaﬁ%abo ﬁaﬁ:%waﬂﬁaﬁgﬂ
Qe RO TomRCF RIMED

(A) PTH &582 TCT (B) PTH =022 LTH

() TCT =020 FSH (D) MSH =020 ACTH

CQuestion id: 16
£9e000LTVT) 2WT022e) CIRTOTT,
(A) BT WHRIBHES e (B) VWO AT, €30 e3¢
(© B dondesod  XoTIREEE  [RE,
RRTERTOT
(D) T0W TeTR) DNPWISNROT XoISNTEY 0
BRETHYTIOOT
Question id: 17
&5 TYNTRYNTY, AR FeONFT weny T
3,000 RFRTIT PLRICIRNTOFRL ?
(A) T, FOERCUIRT® (B) TW,00¢83° Tones
(C) WOOTRRT® (D) 3ea5ee

CQuestion id: 18

SRACT T4 8 TeAFIODNTII, TRONT WO
3,700 XAT WOWmED WA WoTL ATBF T
SQTOT weaFBoBori¥ F085, 030, T,30e0N
(A) 48 020 48 (B) 24 2032 24
(C) 24 0B 48 (D) 48 =020 24

Cuestion bd ;19

maima)‘imﬁ TToNTeL0ons ﬂ@e%ﬁdmﬁcﬁ% :

0TIV LIPS0, T3 008 VT
(A) 25-50 BRI’ (B) 25-50 0D Q0eE3T*
(C) 25-50 T,TRAOCT* () 25-50 FoEIWELIT®

Cuestion id : 20
B8 FENT 0TI MOERRY SR, SNZ T, ?
(A) SCITNT TP, FE Torp TN WENT N
SO

(B) 3TN, @03 0N ZRETNTL BABTYTOTYTO
(C) DOON PYRTFR PV QRO
(D) WO SFTTINY Eﬁﬁ?ﬁﬂﬁé

Cuestion kd 1 21
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22.

23.

24.

25.

26.

27.

Which one of the following character favours
the process of normal spermatogenesis in
human male?

(A) Descent of testes into scrotum

(B) Testes remain in the abdominal cavity

(O) Infection by mumps virus during childhood
(D) Increased scrotal temperature

Question Id : 22

Accessory ducts of reproductive system of
human female include:
(A) Oviduct, uterus & vagina

(B) Oviduct, ovaries & ovarian ligaments
(O) Oviduct, ovaries & mammary glands

(D) Ovaries, uterus & vagina

Cuestion ;23

In human females, the number of primary
follicles left in each ovary at puberty is:
(A) 3000 - 30,000 (B) 30,000 - 60,000

(©) 60,000 - 80,000
(D) 1,50,000 - 1,60,000

Implantation 1s influenced by
(A) FSH (B) LH

(O) Progesteron (D) Relaxin

Cuestion Id : 25

In India the action plans for family planning
were 1nitiated in the year:
(A) 1972 (B) 1947

(O 1951 (D) 1950

Cuestion Id ; 26

The inner cell mass of blastocyst becomes:
(A) extraembryonic membranes

(B) differentiated into embryo proper

(O) chorionic villi (D) placenta

Cuestion Id ; 27

22.

23.

24.

25.

26.

27.

FOORIY 53
TRoF RN
‘?

(A) T,TEIMNED T, e 3e0TRTT, BPDTONE
(B) 3,REAMED %zi%% TINTEE LVPRTONT
(C) WRY,TY, 0T FTAS ARE0BIOT
(D) F,TED WEOTI THTHITT 0%

NI CIRTFYT  REBT,
3 03on RO ROTTST rbr«mﬁ ra

—J
%3,

Cuestion id: 22

A ToeooN Qrmcj Eﬁé 10 ADLIAN) M@mﬂaﬂu
mfﬁm@cﬁ

(A) NWFTY, NIFERET 20B) &0

(B) NYFTY, L0w300N, Wed0DT* ANSO0Es®
(C) TFF Y, BOTBONEL OB TN

(D) ©0TBONNEY, MYIFrBed S0 e T

Question id: 23

TEOBAN WORTOS TS F)d  ©S0wBONTY
WU@UJ:S T, 300 OFS re %083, 032
(A) 3000 _ 30 000 (B) 30, 000 _ 60,000

(C) 60,000 _80,000  (p)1,50,000 _ 1,60,000

Cuestion kd: 24

YOTROLITT* QWOOT VBRI BT
(A) FSH (B) LH
© %ﬁﬁgj@ﬁs (D) O, 3

Cuestion id: 25

YRTSTY, Boedow oIeensMoN  ToRF ek

HoBBLROT wRE
(A) 1972

(C) 1951

(B) 1947
(D) 1950

Question bd : 26
aagﬁrgd CAAF & 50308 BRET FRUT) WHTO
(A) %R €903 BRTFPTCIRNMIST

(B) W £9530N WOBBF BRI
(C) BREOOINRAT® Y 03RS
(D) TRFOE3 (TRRD) SMOST

Cuestion id: 27
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28.

29.

30.

31.

32.

33.

Example for autosomal hyper aneuploidy is:
(A) Down’s syndrome

(B) Klinefelter’s syndrome
(O) Turner’s syndrome (D) Haecmophilia

Cuestion Id ; 28

In dihybrid cross, when F, plants (RrYy) are

self hybridised, the ratio of segregation of
yellow and greenin F, 1S:

A) 1:2:1 (B) 3:1
(©) 9:3:3:1 D) 1:1:1:1
Replacement of which one of the following

nucleotides in the Hb* gene causes sickle cell

anacmia ?
(A) AtoT B) Tto A
OC)Uto A M Cto G

Cuestion i : 30

The type of sex determination in honey bee is:
(A) Haplo-diploidy  (B) Haploidy
(O) Diploidy (D) ZZ-ZW

Match the number of nucleotides of genome of
Column-I with the organisms of Column-II.
Choose the correct option given below:

Column-I Column-I1

1. 5386 nucleotidesp. E.coli

2.48502 bp q. man

3. 4.6x10° bp r. Drosophila

4. 3.3x10° bp s. ¢ x 174 bacteriophage

t. bacteriophage - lambda

(A) 1-s, 2-q, 3-p, 4-t
(O 1-s, 2-t, 3-p, 4-q

(B) 1-s, 2-p, 3-q, 4-1
(D) 1-r, 2-t, 3-s, 4-p

Cuestion Id : 32

The average length of hnRN A in humans 1s,
(A) 3000 bases (B) 2.4 million bases

(C) 1500 bases (D) 500 bases

Cuestion i : 33

28.

29.

30.

3.

32.

33.

SRR LT FITO* LTI, TN YUTIRHOR
(A) @Riﬁq@tﬁ@, el

(B) T, FOXF A0TR, e3F

(C) BIFTF A0TR,ER  (P) SoeRReQOD0IR

Question i : 28
QFPeETEd T,03RNTY, FRTOTE enod IR
(RrYy) 3¢ IR,EACTT [IRRWN 0BT 39
QEPRONG. TED ) TAT WeRTENY HOWFOD
WROTOZY) T3 Oe& QT :
(A) 1:2:1 (B) 3:1
(C) 9:3:3:1 (D) L:1:1:1

Question id: 29

Hb? 23¢T cdnss IR, §OIRCEIT’ S WHUDTFHOW0T

Eqﬁﬁra:ﬁ ACE Ef:?amoim; FO0RWINT
(A)A BT T B) T 0T A
(©) U aoT A (D) C20u G

Cuestion id ; 30

oD Beeandd) don AgoF Ty Bs 0eE0NTINT
(A) TR~ BRI, (B) TYTREN,

(O) E@&’u‘gﬂ&ﬁj& (D) £4~2ZW

Question id: 31
5o00-1 T 2¥ednear’ 8 3R, 303ReT* NV X3, 0003
Fo00-11 TOTOT WeanwrRoln TeoLAT FOCINT
SORCTY, LI :
Fo00-1 Foo0-II
1. 5386 SR,303RCET p. B. ERee
2.48502 bp q. RIT
3. 4.6x10° bp r. @,RRQ0

4.3.3x10° bp s.  x 174 3, 3003Rgee

t. 239,3; OodneTes - T,

(A) 1-s,2-q, 3-p, 4-t
(C)1-s,2-t,3-p,4-q

(B) 1-s,2-p,3-q, 4-r
(D) 1-1,2-t,3-5,4-p

Question kd: 32

RRTRTE hnRNA 00 FTeTO Emcga =) T3 OeS0IRNT

(A) 3000 23ex* RD
(B) 2-4 Q0OCNT® WA
(C) 1500 23ex* Rsh (D) 500 ¢Jex* Mg

Cuestion id: 33
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35.

36.

37.

38.

39.

If E.coli 1s allowed to grow for 40 minutes in a
medium containing N5, then the number of

N4/ N* containing DNA would be:
(B) 20
(D) 2

(A) zero
(O 10

Quesfion id: 34

Polymerisation of DNA nucleotides during the
synthesis of lagging strand occurs in:
(A) 3' — 5'direction  (B) 5' — 3' direction

(O) Any direction

(D) promotor to terminator direction

Cuestion id: 35
In lac-operon concept of gene expression,
allolactose acts as,

(A) repressor (B) inducer

(C) co-repressor (D) co-enzyme

Question Id : 36

The anticodon found on the t-RNA for
tryptophan amino acid 1s
(A) ACC B) UGG

(O UCC (D) CUU

Cuestion Id : 37

Which one of the following 1s the 1dentifiable
character of Neanderthal man?

(A) brain capacity 650 cc-800 cc
(B) developed pre-historic cave art

(O) lived before 2 million years ago
(D) burried their dead.

Quesfion Id : 38

Identify the plants that are dominant during
Jurassic period.
(A) Angiosperms and Bryophytes

(B) Sphenopsida and Ginkgos
(C) Ferns, Conifers and Cycads

(D)  Monocotyledons and  Arborescent

lycopods

Cuestion Id ; 389

35.

36.

37.

38.

39.

E.coli mﬁi e&om&a‘aqalo NEDRNY To© NI° oon
m%qu edgosoe) zbbgdd’, Q0BORQ BPYNYY N4

/N1% 2900z DNA ngh :
(A) AT (B) 20
(€) 10 (D) 2
Questonid: 34
&, Norv 7§ or:é#u 3035R0mowon DNA

Rira %eoﬁ.@ed :&mfa REne Esxodrmagj&

(A) 3' > 5§ C}%'ﬁ@_j (B) 5'— 3’ ﬁ%’jt?ﬂ
(C) CIRTTe DIBY,

(D) TR, RRWT* QOB L30F Tee3T* DI,

Question id: 35

R, T LoD TOTOIODL Ve FITRRODT (e
S ) 3R0TY) R, e:a BRR* I '*'33

(A) @ug,"'?_p‘ (B) “&OE@P‘__}ND‘
(C) T» _ OB TT* (D) 3P - I

By oNIP wWFN AT t-RNA o
WeOT 3038 ReIIT* (Anticodon) CIRFTOTT,

(A) ACC B) UGG
() UCC (D) CUU

Question Id : 37
VRNYY.  TRPYT  LCR0R,Tof mms@t

MOTOEXWTOTIIT NOED @i £9 9
(A) ROTOYT TRT, 650 cc - 800 cc BTVZYTD

(B) Q3TOR FPR[F NOTITY SRR
(O) 2 AL TRFNY &0oT wmﬁthﬁ%
(D) Nédtﬁab W@J&Cﬁjuj

Question id: 38

WTIRT  EOONTRE. TROOT

2%, roomINRy HoToss.
(A) 90TCURETTT®F T 2, OUReTEs*
(B) AT &) woF {ex°
& ~ r
(C) FI'F, BREQAFT® 0= FFow
(D) BIRIRTLSET [0 Geiner T 0L BT

332,99,

Cuestion kd ; 35
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40.

41.

42.

43.

45.

In humans, common cold is caused by:
(A) Retrovirus (B) Bacculovirus

(O) Rhinovirus (D) Rhabdovirus

CQuestion id - 40

Which of the following vector-borne diseases
caused by Aedes mosquitoes ?
(A) Ascariasis and Filariasis

(B) Malaria and Sleeping sickness
(O) Dengue and Chikungunya
(D) Kala azar and Filariasis

Cuestion id ;41

Morphine is obtained from the:
(A) Inflorescence of Cannabis

(B) Leaves of Erythroxylum
(O) Latex of Poppy plant

(D) Root of Atropa

CQuestion Id : 42
Inbreeding  depression occurs due to
continuous

(A) Intra-breeding

(O) Inter-generic breeding

(B) Inter-breeding

(D) Inter-specific breeding

Question Id : 43

Identify the correct combination of crop-

variety and insect pests.

(A) Okra- Pusa sawani - Shoot and Fruit
borer

(B) Flat bean - Pusa Gaurav - Fruit borer
(O) Brassica - Pusa A-4 - Aphids

(D) Brassica - Pusa sem-3 - Jassids

Which of the following crop 1s developed by
mutation breeding, that 1s resistant to yellow
mosaic virus and powdery mildew?

(A) Cow-pea (B) Okra

(O) Chilli (D) Mung bean

Question Id : 45

40.

41.

42.

43.

45.

TRITTY, 56T, 520D
(A) O¥i, FO*

(O R Jo~°

(B) msﬁ:)%t’ %dﬁ“
(D) DT-:JZ:"L% %U:—'EG

Question id: 40

&5 TINT 0008 STO* - WReR'T TREMNY BORDTN
QR WY FOTEITONT ?

(A) STROOTIRT® 3B P O0IRAT

(B) R0Te00IR #3030 A, deen

(C) Tomd, B 23BOR° 1T,

(D) T BTART® WO F,S ORI

Question id : 41
TR B, VTWOOT TR
(A) 'U’Emgtﬁ‘}?u" = mm% (B) 2085, rjﬁe:'o 2N
(C) T XT.T T (D) SEdR,T et

Question id: 42

DTOBTTT B AesH AT VRO BT IZ[
EV0EITINTIBTS
(A) ROR,Y, cROTY (B) BOLIT* 23, eROTY

(C) Q08T* BWJ0T* W, eRON*
(D) DOWT® BT ), eROTY

Cuestion id: 43

WE- 39— 3,c0808nY IO3RT :jooj’mmﬁodm‘%
moToSA.

(A) W8, — TR0 TR _ T0T 30 5200 FR0T

(B) TS WeS° _ TR, Ao NPT _ To000 BR0T

(C) AT _ TR A-4 _ QT

(D) STV _ THTD FF-3 _ WIT®

Cuestion id : 44

TYO 230 T WATTRENE ATRCTT T TRODTOT
B8 TYNST OINT YOO T, EITT* W, eRONT 0TI
90N, DJRROELIT ?
) ) &
(A) To&e (B) &5,

(C) B9, (D) SO0 We'

Cuestion id : 45
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46.

47.

48.

49,

50.

Which one of the following has been
commercialised as blood-cholesterol lowering
agent?

(A) Streptokinase

(O) Statins

(B) Cyclosporin-A
(D) o-Trypsin-A

As the organic matter increases in a water
body, the BOD:

(A) Increases (B) decreases

(O) remains unchanged (D) not a parameter

Cuestion Id : 47

Restriction endonucleases are 1solated from
some bacteria. Their role in bacteria 1s:

(A) defence against virus
(B) synthesis of proteins
(O) act as genetic material

(D) help in reproduction

Cuestion id : 48

From which bacterium the REN-Sal-I 1s
1solated?

(A) Escherichia coli

B) Streptococcus aureus
(©) Haemophilus influenzae

(D) Streptomyces albus
Question Id - 48

A transformed bacterium with human gene,
fails to produce desired protein. The reason

could be:

(A) Human gene may have intron which
bacteria cannot process.

(B) Amino acid codons for human and bacteria
differ.

(©) Human protein is formed but degraded by
bacteria.

(D) The bacterial promotor gene cannot induce
transcription of human gene.

Quesfion id : 50

46.

47.

48.

49.

50.

34 TINIJINIY, CARVT, T33 TRSFTOS e3[R
BN eI0LDN o2 CFOITONG ?

(A) FFRFIF (B) FERBQLOT’ - A

(C) Ryt (S0 =i

Cuestion id : 46

0T SNOBY, TWODT TJFF T TS, BOD
ovey
(A) ﬁbﬁ%ﬁjgd (B) TREOOIRNOZS

(C) WML, (D) ST,

CQuestion d : 47
FOR) mﬁdﬁamwccﬁ bﬁuﬂi&'ﬁ DOTR mﬁﬁﬁo:bw
ri%*ﬁ.g{ ﬁtﬁﬁg&?ﬁmmgd & ‘mﬁ@t}mqu BRINY
TWoT, WEROTT,
(A) %d}'ﬁe ne @djcgp O‘iﬁ (B) T, eL3e’ B030008
(C) DTT0ET F[ROTNT
(D) ﬁom%*&@ﬁﬁ ABTOTORTIO

o3RS mﬁieamaocﬁ Sal -1 20w REN Eigi

TOFOFEPNT ?
(A) D30T éfaeﬁgj

(C) SCRRHOT® F* oo

(B) ?u;%ﬁﬁwﬁ Ciolowsry

- = 8 i bl
(D) N@@N@iﬂd HEEJN

Question id : 49

VOV INY el aplo N evblelat TOWSFIBNROT

W, 3e00dmEy 0T Fpewen'  WIVTTODY

NPONRORT. T209,

(A) BRTTS WOTTEAOL VT I, TN 239,800
T8, CDNRPITONTO

(B) RRTB WZY 13,3 cOCIRNY SRFR BN
oBEBNL LIeToIRND

(C) TRTT o, LD YWZRTIOINETR 23,3 00T
BT, I RRBEOTT

U3D,3e0CINT  FPTWRWT®  FDW
3,0393¢0 TRTWLD TR0,

(D) 2263

Question id : 30
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a1.

52.

93.

Read the statements 1 and 2. Choose the
correct option:

Statement 1 RNAi take place in all
prokaryotic and eukaryotic organisms as a
method of cellular defence.

Statement 2 : RNA interferance is a pre-
translational process.

(A) Statement-1 incorrect, statement-2 correct.

(B) Statement-1 correct, statement-2 incorrect.
(C) Both statements are correct.

(D) Both statements are incorrect.

CQuestion id : 51

The human protein a -1 antitrypsin 1s obtained
from:

(A) transformed bacteria

(B) transgenic animal

(O) transgenic plant

(D) a plant from Western Ghats

Question Id : 52

Psammophytes are growing in/on
(A) Rock (B) Deserts

(C©) Water (D) Shades

Cuestion Id : 53

A plant shows the following modifications :
(1) leaves covered with dense hairs

(11) leaf surface shiny or glabrous

(111) leaf blade remains rolled during day
The adaptation of the plant 1s to:

(A) conserve water
(B) prevent excessive heat

(O) check transpiration (D) absorb water

Cuestion Id : 54

51.

92.

53.

FUNT ﬁe@%ﬁ%’aﬂg{ 0.0 BOCIRTOTIR, E:?Ofoﬁ RRE.
BeeF-1 TR, TPRFTONRT OB
cdmmﬁacdraew ¥ RNAi 0w 23es8ee3 di D)
QGO TOTT.

T2 RNA 2083T¢ c,;—'j‘d’aifd @33.3{ RO WOV
839, ° Te3T° 3,000

(A) TewE-1 3, TeYE-2 %O,

(B) S¥F-1 TO, TePT-2 3@_}.

(C) DTER TEYTNTO 0.  (P) VTER TELTNTO 3R .

Cuestion kd ; 51

vmwe o -1 08385, 1 530) -ewea‘mq CIRRTO0TT
TEONNG :

(A) &2, TR 239,8 000

(B) SR B Ry

(C) 82, WIT* AR,

(D) TEFD PLT w0OTO B,

%99, SR LIFOTOTHT

(A) WOTNS oe (B) S0TOLIR0DY,

(C) DeOE, (D) JT9TE,

Cuestion id : 53

20030 N 38 39N m@rmmﬂmq BRCORTT.

(1) EN$ 0o B002T RTON BRTLONTD BTTT.

(i) 303 me%ﬂ TRYLNCT BRET.

(iii)nGod word (Wew') TNOIY,  o0wesenen
ROEBROBTOTT.

B3 R0CON TROTIVETINTD mmq SRCOROR)TIOTT -
(A) V€O :dodi 0]

(B) ﬁaﬁ% mammmq 3@@%@@@

©) mﬂj‘ﬁ‘dmaﬁﬁ% BBOORT

(D) DT, SotOBRTT

CQuestion id: 54
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85. Mac Arthur’s vision of 5 closely related species

56.

o .

58.

59.

of warblers living on same tree were able to
avoid competition and co-exist by behavioural
difference. This is an example for:
(A) Competitive release
(B) Resource partitioning
(O) Competitive exclusion principle
(D) Adaptive radiation
CQuestion Id : 55

Climax community is a state of:
(A) non-equilibrium  (B) near equilibrium

(O) pioneer species
(D) changing community

The process of decomposition delays when,
(A) the detritus is made up of sugars and
nitrogen compounds.

(B) aeration 1s sufficient.
(C) warm and moist environment exists.

(D) detritus s rich in lignin and chitin.

Question Id : 57

The variety of indigenous cows 1s an example
for:

(A) Genetic diversity  (B) Species diversity

(O) Ecological diversity
(D) Microbial diversity

CQuestion id : 58

So far 1.5 million species are identified, in
which the number of fungi species i1dentified 1s
more than the combined total of:

(A) Algae, lichens, mosses and ferns

(B) Fishes, amphibians, reptiles and mammals
(O) Molluscans and crustaceans

(D) Molluscans, fishes and amphibians

Cuestion Id ; 58

95.

96.

ar.

58.

59.

SIRF  sPFo* OB W ®ET  ROWOFT
wtj\cﬁri%’ad [T WO w%mt 2,003 mdcjej
*cﬁ’r neYQs, ﬁcmwo&:ocﬁ *am@ﬁ RDITRTS.
cdr@cﬁﬁ LVTIIT/TES WOTIT

(A) E‘Owuﬂdﬂ:ﬁ‘ Ddex*

(B) ORReTE Totdr Ion®

(C) TIOR3 0T BORT* 3,
(D) ST ° TeRDETT*

Cuestion id : 55

g aim*‘ psfei. 1) N&OjJDtjd
(A) Eﬁaﬁ)‘é’.@’“@'ﬁ

(B) RROTRCVTF DeT0TIT0
(C) TOZRERONT® T[yyIew  (P) ROBOL WTURHEH

Cuestion id : 56

BRYCIWT T,8,000T0 CIRN LPIRWINIBTIOTT
(A) BE,8%° TBFT 0B TTHITOOT [RTOLWTT

(B) mﬁﬁ% MY CORTR) 00T

© WS Tere IEo3eTm BRRT
W0S0WTEIR0T

(D) BT Eﬁufﬁ&igd NS VB ‘U&ESES‘ 0T
FRRTOPTOCT

Question id : 57

3 3ed TIONY SO0 f&tﬁﬁ VTTOBOBOINNT
A) ESus FOT3 (B) By FIT 3

(C) VBV FRTE (D) AT Wedns FIG 3

Cuestion id: 58

H[ONMR TP 1.5 I T jennda)

ROTETRNT. LINYY. 3DeoT,NFd 83 FFNT 0IRT

rooYNT Foodeeedd [eE03 THNT.

(A) TROMD, SRT[ONH, [T [ T
OeNTNE0

(B) WOCTOMED, wVLIOTANGD, NOCH T B
RRINGD

(C) ®YTONMEO RO §,F 1 25000 TIE0

(D) ®TIONNFV, OETONTL TIB YVRIORTIAANTD

Cuestion kd ; 59
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60. The safe method of disposal of e-waste is: 60. €T TR TITEZ ee520 TRWRT WToT
(A) STATTEIT* (B) WODITY ROTIZHTO

(C) VO X0

(A) incineration
(B) burning in open field
(C) thrown into water (D) dumping in forest (D) TRBRYN BOOOLOTTO

Cuestion Id ; G0 Cuiestion kd : 60
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